5.7.4		Static and dynamic loads





	Static load due to the copper absorber alone per HF is about 100 tons.  The details are shown in Table I below.  The detector must openin half to clear the beam pipe during installation.  Thus each half of the detector must be structurally independent.  Each half then weighs 50 tons.





	Table I.  The static load due to the copper absorber is shown below.





Module Type�
Weight/Module


(ton)�
Quantity/Side�
Total


(ton)�
�
I�
2.66�
16�
42.56�
�
II�
2.22�
16�
35.52�
�
III�
1.33�
8�
10.64�
�
IV�
1.77�
4�
7.08�
�
TOTAL�
�
�
99.4�
�






	Static load for shielding material is calculated below (Nikitin ?) for each element.  The bending moment of the top shielding elements are also listed (Nikitin ?).





	The dynamic loads are small when HF is in motion to and from the garage position.  HF will be moved with a speed of ~ 5 mm/sec.  





	What happens to dynamic loads when the modules are being assembled?  Especially when the two quadrants are being put together (Nikitin ?).





